Crossword Basics of Road Transport

Down:

1.

Road transport scores with its door-to-door
... for its customers

The long-term goal of calculation is to cover
all costs to guarantee further ... of the
company

Only use of ... and expressways is currently
subject to the Austrian toll system

Road transport has a high average ... not
least due to the available road network and
good coverage

Tolls and user charges are collected by ...
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Across:

3.

In comparison to road transport, rail has a ...
mass efficiency

The high risk of ... results primarily from the
fact that there is high traffic density on the
road

... of transport are technical or natural
facilities for transport and transhipment of
transport objects

... of transport includes all means of
transport using the same type of transport
infrastructure
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